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  TEST 10
1.  lnx + lny = 10

  lnx – lny = 6

 ´ x =

A) 2 B) 4 C) 6 D) 8 E) 10

2. 

 ´ x =

A) 19 B) 20 C) 21 D) 22 E) 23

� � �

� � �

����

����

����� �� ����� �� ����� ��

������ ����� �� ����� ��

4.  log464! = a

 ´ 4 =

A) a – 3 B) a C) a + 3

 D) a + 4 E) a + 64 

6. 

  A1, A2, A3 k   kare (square)

  
¥

n = 1
 A(An) = a\B

 ´ a + =

A) 23 B) 19 C) 18 D) 17 E) 16

��

��

��

��

��
�� ����� �

�

���������

5.  x2 – 25x + 16 = 0

  f(x1) = f(x2) = 0

 ´ Â6 + x + X =

A) Ã/ê B) Í/ê C) Í/è D) 3,5 E) 2,5

= = eln2 ln3 ln4

ln2 ln3 ln4 = eln2 + ln3 + ln4

ln2 + ln3 + ln4 = eln24

ln24 = eln(4 + 20)

ln(4 + 20) = eln4 + ln20

ln4 + ln20 = eln4 ln20

ln4 ln20 = = 80

 ´ 24 = 80

 

 In which step the firs mistake was mode?

A) III B) IV C) V D) VI E) VII
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  TESTPermutation 1
1. 

 How many different ways can 1 pencil or 1 ballpoint pen 

be selected from 10 different pencils and 3 different 

ballpoint pens?

A) 30 B) 20 C) 13 D) 11 E) 2

6.  n  = 
n!

(n + 2)!

 ´ 10  : 9  =

A) 5\â B) 4\ß C)  D) 5\à E) 6\á

8.  A = P(6, 2)

  B = P(5, 3)

  C = P(3, 2)

 ´ 
A + B

C
 =

A) 10 B) 15 C) 16 D) 18 E) 25

2. 

 How many different ways can 1 pen and 1 notebook be 

selected among 6 different notebooks with 4 different 

pens?

A) 24 B) 20 C) 12 D) 10 E) 2

4. 

 How many different ways can 4 different books be lined 

up side by side?

A) 4 B) 3! C) 4! D) 5! E) 6!

5.  A = {Z, A, F, E, R}

 

 How many different 3-letter meaningful or meaningless 

ways can be written with the letters of the set?

A) 20 B) 25 C) 30 D) 45 E) 60

7. 

 How many different three-digit natural numbers with 9, 

8, 7, 6 numbers and different numbers can be written?

A) 48 B) 24 C) 12 D) 8 E) 6

 

 How many different ways can you go from Istanbul to 

A) 7 B) 10 C) 11 D) 12 E) 14

İ
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  TESTSequences and Series 6
1. (an) bir aritmetik dizi (arithmetical sequence)

  a1
2 – a7

2 = 48

  a4 = 4

 ´ a1 = ?

A) 27 B) 17 C) 7 D) 6 E) 5

2. n) aritmetik dizisinin a1, a3 ve a8 

dir.

 
 an arithmetic array which its  common difference is 9 , 

its a1, a2 and a8 respectively  terms are geometric 

array's 3 terms , according to this ; what is the 7th term 

of the arithmetic array?

A) 63 B) 64 C) 65 D) 66 E) 67

5. 

 
 Sum of the 3 numbers which make an arithmetic array 

is 6, if we add 1 to its 1st ,  2 to its 2nd and 5 to its 3rd 

number it will make a geometric array.

What can be  the biggest number among these 3 

numbers?

A) 8 B) 7 C) 3 D) 1 E) – 3

3. – (0,2) + (0,2)2 – (0,2)3 + . . .  = ?

A) – 1\â B) – 1\ß C) –  D) – 1 E) – 2

4.  90° < à £ 180°

  
¥

k = 1
sin2kà = 1\ß

 ´ à = ?

A) 180° B) 150° C) 130°

 D) 120° E) 110° 

6. (an) bir aritmetik dizi (arithmetical sequence)

  an – 3 + an – 2 + an – 1 = 6n + 3

 ´ a  = ?

A) 2n – 5 B) 2n – 3 C) 2n – 1

 D) 2n + 3 E) 2n + 5 

7. a1

a2

a3

b1 a4 b3 b4 b5

a5

               x

2 16 y

3

         ®

 

  a5 – a4 = a4 – a3 = a3 – a2 = a2 – a1

  
b5

b4
 = 

b4

b3
 = 

b3

a4
 = 

a4

b1

 ´ x + = ?

A) 35 B) 36 C) 37 D) 38 E) 39
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  TESTSequences and Series 1

2.  (an)  = { 
n! + 4, n = 2k + 1

13n, n = 2k

 ´ a10 – a3 = ?

A) 3! B) 4! C) 5! D) 6! E) 7!

3.  (an) = ( 2n + 5
n – 1

)

  ak = 3

 ´ k = ?

A) 4 B) 5 C) 6 D) 7 E) 8

6.  (an) = ( 2n2 + 3n + 12
n

)

  ak Î Z

 ´ Sk = ?

A) 28 B) 26 C) 24 D) 16 E) 12

8.  An > 1

  a1 = 12

  an + 1 = an + n – 1

 ´ a5 = ?

A) 10 B) 12 C) 14 D) 18 E) 19

1.  (an) = (– 1)n . (n2 + 2)

 ´ a2 + a3 = ?

A) – 5 B) – 4 C) 0 D) 4 E) 5

4.  (an) = ( 3n – 4
n

)

  ak < 

 ´ Sk = ?

A) 14 B) 28 C) 34 D) 38 E) 40

5.  (an) = ( n2 + 6n – 91
2n + 3

)

  ak < 0

 ´ Õk = ?

A) 0 B) 0! C) 4! D) 6! E) 7!

7. 
?

 Which of the following cannot be the general term of a 

sequence?

A) 
3

n + 2
 B) 

2n

2n – 3
 C) 

3n2 + 1

2n + 5

 D) 
7n

n – 5
 E) 

2n + 1

n + 3
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  TESTDerivative 9
1. �

��

���

����

� ����

 ABC is a triangle

 m(ëA) = 30°

 f(x) = 2x3 – 5x + 7

 ´ A(ABC) = ?

A) 1\à B) 1\ß C)  D) 1 E) 2

5.  f(x) = x3 + mx2 + nx + k

  f(0) = 1

  f (0) = 2

  f (0) = – 4

 ´ f(3) = ?

A) 17 B) 16 C) 15 D) 14 E) 13

2. 

 ´ lim
h ® 0 h

 = ?

A) – 2 B) 2 C) 1 D)  E) 0

�

�

����

�

����

3. 

 ´ lim
x ® 1

 = ?

A) – 3 B) – 2 C) 1 D) 2 E) 3

�

�

����
�

� �

4.  f(x, m) = 2x2 + 3m2 + 4x + m

 ´ d f(x, m)
dx

 – d f(x, m)
dm

 = ?

A) 4x – 6m        B) 4x + 6m

C) 4x – 6m – 3       D) 2x – 6m + 3

                             E) 4x – 6m + 3

6.  f(x) = sinx + cosx + ex

 ´ f (x) – f(x) = ?

A) sin2x B) – sin2x C) 2cosx

 D) 2sinx E) – 2sinx 

7.  f(x) = 2x3 + ax2 – 4x + 5

  f (x) = bx2 + 10x + c

 ´ a + b + c = ?

A) 5 B) 6 C) 7 D) 8 E) 9
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  Derivative

9.  f(x) = 
x2 – 1
x + 1

 ´ lim
h ® 0 h

 = ?

A) 2023! B) 2023 C) 1 D) 0 E) – 1

11.  f(x) = e4x

 ´ f (x)
f (x)

 = ?

A) 16 B) 4 C) e4x D) 4ex E) ex

15. d2(cosx)
dx2

 = ?

A) – cosx B) – sinx C) tanx

 D) cosx E) sinx 

16. d3

dx3
 (2023x2 + sinx) = ?

A) – sinx B) – cosx C) 0

 D) 4026– cosx E) 4026– sinx 

12.  g(x) = e4 + 5x2 + e2x

 ´ lim
h ® 0 h

 = ?

A) 0 B) 5 C) 4 D) 2 E) 1

10.  f(x) = lnx

 ´ f (x) = ?

A) xlnx – x B) x C) 1\X D) 
1

ñx
 E) ñx

13.  f(x) = e3x

  f (x) = a . e3x

 ´ a = ?

A) 1 B) 2 C) 3 D) 9 E) 27

14.  f(x) = 52x

 ´ f (x) = ?

A) 2 . 52x B) 52x . ln5 C) 2 . 52x . ln5

 D) 0 E) ln5 
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  TESTTrigonometri / Trigonometry 15
1.  arc tan2x = arc cot4x

 ´   Õx = ?

A) – 1\ä B) – 1\à C) –  D)  E) 1\ä

2. 

  |OA| = 5 br     |BC|= 6 br

 ´   tanà – á = ?

A) Ã/ò B)  C) Å/ò D) 2\ß E) 3\à

�

�
�

�

�
�

�

�

5. 

  6ha = 5hb = 3hc

 ´   ëA = ?

A) – 5\ß B) – 2 C) – 1 D) – 1\ß E) – ¿/õ

�

� � �

�� ��

�� ��

6. �

� �

�

��

��
� �

��

|AB| = |AD| = x

 |BC| = |CD| = y

 m(ëA) = 2à

 m(ëC) = 2á

 ´   x\Y = ?

A) siná
sinà

 B) cosá
cosà

 C) sina
sinb

 D) cosa
cosb

 E) 1 

4. 

 ´   ã – x) – siny = ?

A) 2sinx B) sinx C) 0 D) 2cosx E) cosy

�

��

��

�� �

�

�

�

3. 

 ´   A(ABOC) = ?

A) ñ2 sin(x – y)  B) ñ2 sin(x + y)

C)  cos(x + y)  D)  cos(x – y)

                                  E) 1

�

�

��

�� �

�

��

�

�

�

�

�

�
�
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  TESTTrigonometri / Trigonometry 1
1. k Î Z,

  3670° = 2ã . k + à

 ´ à = ?

A) 20° B) 30° C) 70° D) 80° E) 90°

5.  sin2à + cos218° = 1

 ´ à = ?

A) 72° B) 68° C) 62° D) 18° E) 12°

2. k Î Z,

  – 710° = 2ã . k + à

 ´ à = ?

A) 10° B) 20° C) 30° D) 40° E) 50°

6. 6.sin2 2
 = ?

A) 1 B) 2 C) 3 D) 4 E) 6

7.  – = ?

A) 2 B) 1 C) 0 D) – 1 E) – 2

8. sin2 + sin2 = ?

A) 20 B) 10 C) 2 D) 1 E) 0

4.  sin2à = x – 3

 ´ ? < x < ?

A) – 1 £ x £ 1  B) 2 £ x £ 4

C) – 1 < x < 1  D) 2 < x < 4

                             E) 3 £ x £ 4

3. k Î Z,

  
192ã

5
 = 2ã . k + à

 ´ à = ?

A) o\à B) ƒ/é C) o\ß D) o\á E) ƒ/ë
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TESTPolinom / Polynomial 5

2.  der [P(x)] = 5

  der [Q(x)] = 7

 ´ [x2 . P(x) + x . Q(x2)] =

A) 14 B) 15 C) 16 D) 17 E) 18

5.  P(x) = 2x2 – x + 5

 ´   P(x2) =

A) 4x4 – x2 + 5      B) 2x4 + x2 + 5

C) 2x4 – x2 + 5      D) 4x4 + x2 + 5

                             E) x4 – x2 + 5

6.  P(x2 + x + 1) = 3x2 + 3x + 5

 ´   P(20) =

A) 60 B) 61 C) 62 D) 63 E) 65

3. Ax Î R

  3x – 5 = a(x2 – 1) + bx(x – 1) – c(x + 1)

 ´ + + =

A) 1 B) 3 C) 4 D) 5 E) 7

1.  3x3 – 2x2 + x + 1 º P(x) [mod(x2 + 1)]

 ´   P(x) =

A) – 2x – 3 B) – 2x + 3 C) 2x – 3

 D) 2x + 3 E) 1 

4.  

  

P(x) x9 – x + 1

B(x)
–

K(x)

  der [B(x)] = der [K(x)] – 1

 ´ [ (P(x))] =

A) 24 B) 23 C) 17 D) 16 E) 15

7.  (x2 – 1) . Q(x + 1) = x3 + mx + n

  

x2 – 1 Q(x)

B(x)

 ´   B(x) =

A) x B) x + 1 C) x – 1

 D) x + 2 E) x – 2 

8.  P(x) = (x + 2)2020 – 2(x + 2)2019

  
P(x) x

B(x)
       

B(2x + 5) 2x – 2

–
K

 ´   K =

A) 72020 B) 72019 C) 52019

 D) 92019 E) 32019 
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TESTPolinom / Polynomial 1
1. 

A) 5x2 + 1 B) 1\X + 1 C) ñx + 3

 D) x – 2\X E) 5ñx + 6 

2.  P(x) = 3x2 + 7 – x4 + 5x

 ´ [P(x)] =

A) 1 B) 2 C) 3 D) 4 E) 5

3.  P(x) = 3x2 + 4x – 7

 

A) 3 B) 4 C) 7 D) – 4 E) – 7

5.  P(x) = (a – b)x4 + 13x – 4

  Q(x) = 7x4 + (a + b)x – 4

  P(x) = Q(x)

 ´ 2 – 2 =

A) 51 B) 71 C) 91 D) 101 E) 111

4.  Q(x) = 5x2 – 4x4 + 3x3 + 2x2 + 1

 

A) 15 B) 7 C) 6 D) 5 E) 4

6.  P(x2) = 3x10 + x8 – x2 + 5

 ´ [x3 . P(x)] =

A) 13 B) 11 C) 9 D) 8 E) 7

7.  (x2 + 4x + 1) . (x2 + 3x – 5)

 3

A) 7 B) 6 C) 5 D) 4 E) 3

8.  P(x) = 2x2 + 3x + 4

  Q(x) = x2 – 4x + 4

 ´ 2P(x) – Q(x) =

A) 4x2 + 6x + 8        B) 5x2 + 2x + 12

C) 3x2 + 10x + 4        D) 3x2 – x

                                E) 3x2 – 7x


